Construction division. Advice for giving credit to contractors/suppliers.

Sl. No. – site bills					Date	- site	bills				
register		964		Register				2021			
Comp	oany Name:	MPL	Site:				may flower pletinum				
Name	e of Contractor	Priya	nte u	Deve	i						
Natur	e of work	Grar	rite u	uor K							
Work	done	From Dat	te	10 10 2021 TO I		To Date	1	30 10	202		
Sl. No.	Villa/Flat/block no Shabbal strue, gra	unk		Rate		Units	Amo	unt		Contractors bill no	
1.	granul mer.	un,				461					
2.	Shabed Stry lay		1-6 1-6		15	str	29,	260 = 400=	es es		
3.	chapted and the	· · ·	40		81	211	10	80 0	0		
4.	County buy mych		60		36	Str	7	080=	Ø		
5.	Example champene	1	25	2	-5	PH	3,	25=	,		
6.	shilled stone cultiv		126		81-	sfi		21,408=6			
7.	moderation all	•	540		8/-	Str	1	720 =			
8.	grade gardey	4 NF 13	L40	0		211	٠. ا				
9.	Event cutty me		60	8		3/1		180= 180=			
10.	EVANTE CUMPY NOT	punh	60		86	Str		400-			
11.		otal:					96,	353.	=P		
Bill r	equired	☐ YES ☑NO.		GST bill require		uired	ed YES NO.				
)	surement &	Required			Measurement &			P	nclos	sed	
	ate sheet:	☐ Not required			estimate sheet:				ot en	closed	
PO/W	VO no.				PO/WO date:		e: 				
Rema	arks:										
Approved by Project Manager			Approved by Design Team			m Ap	Approved by M.D.				
Date	0111204	1	Date:					Date:			
Sign			Sign:				Sig				
A.T.	1 71						Sig				

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bit for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement share not required for turnkey jobs where guideline rates are clearly given.

`omp:	nny Name:						
Project:		MPL	Prepared by:		R.Ashok		
	Description:	May Flower Platinum					
	ctor Name:	Sabad Stones & Granite Laying @ Ramps and	d Garden				
Date:	etor .vanic.	Priyanka Devi					
Jaic.		20.10.2021					
S.No.	Item Head	L. D					
		Item Description	Quantity	Units	Rate	Amount	Grand Total
1	Ramps @ Main Gate & Lower Cellar	Shabad Stones Laying	2.024.00	0.1			
	- Commi	Macharla stone laying	2,926.00	Sft	10.00	29,260.00	
2	South Side	Shahbad stone layig Garden & Graveyard	840.00	Rft	10.00	8,400.00	
3 Granite Chennel		Granite laying at Main Ramp	1,240.00	Sft	10.00	12,400.00	
_	Planter Box	Granite laying at Wain Rainp Granite laying Infront of Main Road	60.00	Sft	18.00	1.080.00	
		Granite Chamfering	60.00	Sft	18.00	1.080.00	
		Toranne Chainnering	125.00	Rft	25.00	3.125.00	
		-					55,345.00
	Cutting of granite, Shahbad stone	Shabad Stones cutting	2,926.00	Sft	8.00	23.408.00	
-	and Marcharla stone	Macharla stone cutting	840.00	Rft	8.00		
		Shahbad stone cutting Garden & Graveyard	1,240.00	Sft	8.00	6,720.00 9,920.00	
		Granite cutting at Main Ramp	60.00	Sft	8.00		
		Granite cutting Infront of Main Road	60.00	Sft	8.00	480.00	+
			00.00	311	8.00	+80.00	41.000.00
		1					41,008.00
-				Total A	mount		96,353.00
A	amount in words :- Fifty One Thousand	Six Hundred and Fifty Four Rupees Only					70,333.00

EAS	SUREMENT SHEET								
ompa	nny Name:	MPL	Prepared by:		R.Ashok				
projec	t:	May Flower Platinum							
Work	Description:	Sabad Stones & Granite Laying @ Ramps and Garden							
Contra	ctor Name:	Priyanka Devi							
Date:		20.10.2021							
			A	В	C				
S.No	Item Head	Item Description	Length	Width	Height	Nos	Quantity	Units	Total Head
	Sabad Stones Laying								
1	Ramps @ Main Gate & Lower Cellar	Main Ramp	80.00	20.00	1.00	1.00	1,600.00	Sft	
		Ramps @ Lower Cellar	78.00	17.00	1.00	1.00	1,326.00	Sft	
									2,926.00
		Macharla Cutting	220.00	1.00	1.00	2.00	440.00	Rft	
		Macharla Cutting	200.00	1.00	1.00	2.00	400.00	Rft	
									840.00
2	South Side	Garden	2.00	2.00	1.00	130.00	520.00	Sft	
		Graveyard	1.00	4.00	1.00	180.00	720.00	Rft	
	·								1,240.00
	Granite Chennel	Main Ramp	20.00	1.00	1.00	3.00	60.00	Rft	
									60.00
	4 Planter Box	Infront of Main Road	60.00	1.00	1.00	1.00	60.00	Sft	
									60.00
		Chamfering	125.00	1.00	1.00	1.00	125.00	Rft	
									125.00
	oden o								

Bill for Labour charges

Priyanka Devi Kakatiya nagar, Neeredmet Hyderabad

Date:01-11-2021

In favor of: MPL Project / Site: MFPP

Location: 82/1. Mallapur

Type of Work: Shabad Stones & Granite Laying @ Ramps and Garden

Towards: Allowance for Labour charges

S No.	Description	Amount
1.	Brief description of work done Shabad Stones & Granite Laying @ Ramps and Garden Total amount =Rs 96,353=00 Work done from date: 10-10-2020 to 30-10-2021	Rs.38541=00

Amount in words: Thirty Eight Thousand Five Hundred and FOurty One rupees only.

Sign:		

Bill for Equipment Allowance

Priyanka Devi

Kakatiya nagar, Neeredmet

Hyderabad

Date:01-11-2021

In favor of:

MPL

Project / Site:

MFPP 82/1. Mallapur

Location: Type of Work:

Shabad Stones & Granite Laying @ Ramps and Garden

Towards:

Allowance for Equipment

S No.	Description	Amount
1.	Brief description of work done Shabad Stones & Granite Laying @ Ramps and Garden Total amount = Rs 96.353=00 Work done from date: 10-10-2020 to 30-10-2021	Rs.38541=00

Amount in words: Thirty Eight Thousand Five Hundred and FOurty One rupees only.

Sign:	

Bill for Consumables

Priyanka Devi Kakatiya nagar, Neeredmet Hyderabad

Date:01-11-2021

In favor of: Project / Site:

MPL MFPP

Location:

82/1. Mallapur

Type of Work:

Shabad Stones & Granite Laying @ Ramps and Garden

Towards:

Allowance for Consumables

S No.	Description	Amount
۱.	Brief description of work done Shabad Stones & Granite Laying @ Ramps and Garden Total amount Rs 96,353=00 Work done from date: 10-10-2020 to 30-10-2021	Rs.19271=00

Amount in words: Nineteen Thousand Two Hundred and Seventy One Rupees only

Sign:		